Name: K@,"l{ Class: Date: ID: B

éuiz 6.1-6.2 Review

1.

ABCDE ~ GHIDF. Complete the statements.

A

The measures of the angles of a triangle are in the extended ratio 2 : 4 : 6. What is the measure of the

smallest angle? &l x<+Uy = = (8D Vo= 1ED w5 A5 = ‘5 o) l
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What is the solution of each proportion?
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A salsa recipe uses green pepper, onion, and tomato in the extended ratio 1 :3 : 4. How many cups of onion
are needed to make 16 cups of salsa? lx+= dx+ Yx = 1 Er=lo =2 3G cups
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In a diagram of a landscape plan, the scale is 1 cm = 10 ft. In the diagram, the trees are 3.4 centimeters apart.
How far apart should the actual trees be planted? lem 3.4 ¢ ws 24 (10) ~]’3 \ _[‘il
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The ratio of length to width in a rectangle is 3 to 1. If the perimeter of the rectangle is 32 feet, what is the
length of the rectangle?
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Are the polygons similar? If they are, write a similarity statement and give the scale factor.
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10. A model is made of a car. The car is 8 feet long and the mode! is 6 inches long. What is the ratio of the

length of the car to the length of the model?
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The polygons are similar, but not necessarily drawn to scale. Find the value of x.
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